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It is evident that we are concerned for a swindle

OVERVIEW

X"1 maintains that when the 1% admits, we return the 0w to the 197 and we
are not concerned that this may be a X°1117. The Xn» 72 states that even if the
m> admits we do not return the “vw (which has n17nX). The X3 surmises
that the Xn>12 is concerned X°1117% (and therefore the W is not returned),
which refutes X"9. mpoIN explains that the emphasis of the refutation is on
the ruling, rather than on the reason for the ruling.

mooIn anticipates a difficulty:
— ‘w’n M5Y AND NNWT DIVN 9N XIT RNYO 9939105 1398107 2) DY GN)

And even though we can answer that the reason the Xn°12 maintains X?
7°17° is because 3912 N9H anD RMAW, etc., but not because of a X>111p —

mooin replies that -
1 W0 IN9Y NS ININT RYIN 5294 NV 01PN Yon

Nevertheless it will still present a difficulty, for X'9 maintains 97> and

he is not concerned for anything; neither 21137 not "2 20> Xnw, while the Xn>>12 rules
711> X2 and is obviously concerned for some wwn.

SUMMARY
There is a question on X" regardless whether the reason is X111 or N2 2n>.

THINKING IT OVER

mooIN 1s (seemingly) explaining that the refutation of X" is because he says
9117 and the Xn12 says 1 X2. Why then does nmioin end with the words
"wn X9'; this is seemingly irrelevant to the refutation?’

! The xn»12 will follow the view of *0X 27 (and not of »aR that 17 P21 PMINA2 VIY).

% X" is not w>n for an3 Xnw (either) as Moo mentioned previously 127 1"72. See “Thinking it over’.

? See o 7PUma 1"7Y. It seems that it is important for the X723 to derive that ®°111p% 11°w>n (which is a more
encompassing ruling than 21> or %11 R?).
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